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b) i) In the circuit shown in figure, find the phasor voltage V,. ' (10)
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14. a) Inthe series circuit shown in figure, the switch is closed on position 1 at t = 0.
' At t =1 milli second, the switch is moved to position 2, Obtain the equations for
the current in both intervals, | o o (16)
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Answer ALL questions

PART-A ' (10x2=20 Marks)

1. The resistances of 1.5 Q and 3.5 Q are connected in parallel and this parallel
combination is connected in series with a resistance of 1.95 Q. Calculate the

- (OR) ' | - equivalent resistance value,

b) Find the h-parameters for the network shown in figure. | o (16) | 2. State Kirchhoff's laws.
1 o—A Me— o 2 | | o
104 3. Two resistors 4Q and 6Q are connected in parallel. If the total current is 12 A.
' o Find the current through each resistor. :
- =1a _ ’ :
% ' L ( 4, State Maximum power transfer theorem.
o —o g’ 5. Write down the application of tuned circuits.
1o~ T _

15. a) i) A delta connected balanced load is supplied from a 3 phase 400 V supply. 6. Two coupled coils with L; =0.02 H, L, =0.01 H and K =0.5 are connected in series
The line current is 20 A, total power taken by load is 10,000 W, Calculate aiding arrangement. Obtain the equivalent inductance. o _
the impedance in each branch, the line current, power factor and total :
power consumption, (6) 7. What is the time constant for series RL and RC circuits ?

ii) Unbalanced four wire star connected load has balanced supply voltage of 400 V. ) .
The load impedances are Zp = (4 +j8)Q, Zy = (3 +j4)Q, Zp=(15+j10)Q, 8. What are the parameters commonly used in the analysis of two port network ?
calculate the line currents, neutral current and total power. (10) . X
(OR) 9. The power input to a 2000 V, 50Hz, 3 phase motor is measured by two watt meters
‘ ' : . which indicate 300 Kw and 100 Kw respectively. Calculate power factor.
b) i) Explain the measurement of power in 3 phase circuit using one wattmeter
method, ‘ (8) 10. Write the expression for determining reactive and apparent power in a three
i) Two watt meters in a three phase three wire system with a effective line phase circuit.

voltage of 120 V read 1500 W and 500 W. Find the impedance of the balanced
delta connected load. (8)
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| PART -B (5%16=80 Marks) ii) Evaluate the current I ﬂowmg th1 ough the 1 ochm vesistance, by applying
11. a) Determine the current suppli‘ed' by each battery in the Cir'miiﬁ éhown in figure : N01ton§ theorem. C)
. B

using mesh analysis,
i - : . : 260
=l | z)zv | 1 @ia
, | N (0) 1))
(OR) L : _ . b) i} .For the circuit shown in figure determine the current in (2 +33) Qby usmg
I { { .., superposition theorem. . e e : (G
b) 1) Detel mine the current I delivered by the source. _ (6) R ' 40
1,50 TR0 80 - L R
S N , snlgivet .-..3
10V 30 | | 2000°A
| L _ . , Dete the Th 1 t across AB for the given circuit 8
11) U"se nodal voltage analysis to find the voltages of nodes ‘m’ and ‘n’ for the ) Detexmine ORI cquivaient actoss i ¢ e ®
circuit shown in figure. _ (10) 30 ~j4 Q B ~4Q
20 A T ToA
VW
e | 13. a) i) Compute Q of the senesRLC circuit withR=10Q, L= 0.04Hand C=1pF.
Find bandwidth, resonant frequency and half power frequencies. Q0
i) Tor the palallel network shown in ﬁgu1e, determme the value of R for
| , (6)

12. a) i) In: the circuit of figure six resistors are connected to form delta and a star.
Find the effective resistance between A and B. . (8) esonance.




